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UPSC MAINS-2017 

GENERAL STUDIES PAPER-3 
Instructions for UPSC Mains GS Paper-3 

 Duration: 3 hours; Maximum Marks: 250 
 Please read each of the following instructions carefully before attempting questions: 
 There are TWENTY questions printed both in HINDI and in ENGLISH. All the questions are 

compulsory. 
 Answers must be written in the medium authorized in the Admission Certificate which must be 

stated clearly on the cover of this Question-cum-Answer (QC4) Booklet in the space provided. 
 No marks will be given for answers written in a medium other than the authorized one. 
 Word limit in questions, wherever specified should be adhered to. 
 Any page or portion of the page left blank in the Question-cum-Answer Booklet must be clearly 

struck off. 
 
1- Hkkjr dh laHkkO; lao`f) ds vusd dkjdksa esa cpr nj lokZf/kd izHkkoh gSA D;k vki blls 

lger gSa\ lao`f) laHkkO;rk ds vU; dkSu ls dkjd miyC/k gSa \ ¼mŸkj 150 'kCnksa esa nsa½ 

Among several factors for India’s potential growth, savings rate is the most 
effective one. Do you agree ? What are the other factors available for growth 
potential ?                (Answer in 150 words) 10 

 
2. Je&iz/kku fu;kZrksa ds y{; dks izkIr djus esa fofuekZ.k {ks=d dh foQyrk ds dkj.k crkb,A 

iwath&iz/kku fu;kZrksa dh vis{kk vf/kd Je&iz/kku fu;kZrksa ds fy, mik;ksa dks lq>kb,A  
 ¼mŸkj 150 'kCnksa esa nsa½ 

Account for the failure of manufacturing sector in achieving the goal of 
labour-intensive exports. Suggest measures for more labour-intensive rather 
than capital-intensive exports.             (Answer in 150 words) 10 

 
3. lkoZtfud&futh Hkkxhnkjh ¼ihihih½ ekMy ds v/khu la;qä miØeksa ds ek/;e ls Hkkjr esa 

foekuiŸkuksa ds fodkl dk ijh{k.k dhft,A bl laca/k esa izkf/kdj.kksa ds le{k dkSu lh pqukSfr;ka 
gSa \ ¼mŸkj 150 'kCnksa esa nsa½ 

 Examine the development of Airports in India through joint ventures under 
Public-Private Partnership (PPP) model. What are the challenges faced by 
the authorities in this regard ?            (Answer in 150 words) 10 

 
4. Hkkjr esa Lora=rk ds ckn df̀"k esa vkbZ fofHké izdkjksa dh Økafr;ksa dks Li"V dhft,A bu Økafr;ksa 

us Hkkjr esa xjhch mUewyu vkSj [kk| lqj{kk esa fdl izdkj lgk;rk iznku dh gS \  
¼mŸkj 150 'kCnksa esa nsa½ 
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Explain various types of revolutions, took place in Agriculture after 
independence in India. How these revolutions have helped in poverty 
alleviation and food security in India ?           (Answer in 150 words) 10 

 
5. ykxr izHkkoh NksVh izØe.k bdkbZ dh vYi Lohdkfjrk ds D;k dkj.k gSa\ [kk| izØe.k bdkbZ 

xjhc fdlkuksa dh lkekftd&vkfFkZd fLFkfr dks Åij mBkus esa fdl izdkj lgk;d gksxh \ 
   ¼mŸkj 150 'kCnksa esa nsa½ 

What are the reasons for poor acceptance of cost-effective small processing 
unit ? How the food processing unit will be helpful to uplift the socio-
economic status of poor farmers?             (Answer in 150 words) 10 

 
6. Y;wdhfe;k] FkSyklhfe;k] {kfrxzLr dkWfuZ;k o xaHkhj nkg lfgr lqfoLrr̀ fpfdRlh; n’kkvksa esa 

mipkj djus ds fy, Hkkjr esa LVSe dksf’kdk fpfdRlk yksdfiz; gksrh tk jgh gSA la{ksi esa o.kZu 
dhft, fd LVSe dksf’kdk mipkj D;k gksrk gS vkSj vU; mipkjksa dh rqyuk esa mlds D;k ykHk 
gSa \           ¼mŸkj 150 'kCnksa esa nsa½ 

 Stem cell therapy is gaining popularity in India to treat a wide variety of 
medical conditions including Leukaemia, Thalassemia, damaged cornea and 
severe burns. Describe briefly what stem cell therapy is and what 
advantages it has over other treatments ?           (Answer in 150 words) 10 

 
7. Hkkjr us pUnz;ku o eaxy d{kh; fe’kuksa lfgr ekuo&jfgr varfj{k fe’kuksa esa vlk/kkj.k 

lQyrk izkIr dh gS] ysfdu ekuo&lfgr varfj{k fe’kuksa esa izos’k dk lkgl ugha fd;k gSA 
ekuo&lfgr varfj{k fe’ku ykap djus esa izkS|ksfxdh; o lqizpkyfud lfgr eq[; #dkoVsa D;k 
gSa \ lekykspukRed ijh{k.k dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 
India has achieved remarkable successes in unmanned space missions 
including the Chandrayaan and Mars Orbitter Mission, but has not ventured 
into manned space missions.What are the main obstacles to launching a 
manned space mission, both in terms of technology and logistics ? Examine 
critically.              (Answer in 150 words) 10 

 
8. ;g cgqr o"kksZa igys dh ckr ugha gS] tc ufn;ksa dks tksM+uk ,d ladYiuk Fkh] ijUrq vc ;g 

ns’k esa ,d okLrfodrk curh tk jgh gSA ufn;ksa dks tksM+us ls gksus okys ykHkksa ij ,oa Ik;kZoj.k 
ij blds laHkkfor izHkko ij ppkZ dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 
Not many years ago, river linking was a concept but it is becoming a reality 
in the country. Discuss the advantages of river linking and its possible 
impact on the the environment. (Answer in 150 words)          10 

 
9. lkbZcj vkØe.k ds lEHkkfor [krjksa dh ,oe~~ bUgsa jksdus ds fy, lqj{kk <kaps dh foospuk 

dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 
Discuss the potential threats of Cyber attack and the security framework to 
prevent it. (Answer in 150 words)             10 
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10. Hkkjr dk mŸkj&iwohZ; izns’k cgqr yEcs le; ls fonzksg&xzflr gSA bl izns’k esa l’kL= fonzksg 

dh vfrthfork ds eq[; dkj.kksa dk fo’ys"k.k dhft,A ¼mŸkj 150 'kCnksa esa nsa½ 
 The North-East region of India has been infested with insurgency for a very 

long time. Analyze the major reasons for the survival of amed insurgency in 
this region. (Answer in 150 words)             10 

 
11. 2017&18 ds la?kh; ctV ds vHkh"V mÌs’; ^Hkkjr dks :ikarfjr djuk] ÅtkZoku cukuk vkSj 

Hkkjr dks LoPN djuk^ gSA bl mÌs’; dks izkIr djus ds fy, ctV 2017&18 esa ljdkj }kjk 
izLrkfor mik;ksa dk fo’ys"k.k dhft,A ¼mŸkj 250 'kCnksa esa nsa½ 
One of the intended objectives of the Union Budget 2017-18 is to 
‘transform,energise and clean India’. Analyse the measures proposed in the 
Budget 2017-18 to achieve the objective. (Answer in 250 words)        15 

 
12. Þlq/kkjksŸkj vof/k esa ldy&?kjsyw&mRikn ¼th-Mh-ih-½ dh lexz lao`̀f) esa vkS|ksfxd lao`f̀) nj 

fiNM+rh xbZ gSAß dkj.k crkb,A vkS|ksfxd&uhfr esa gky esa fd, x, ifjorZu vkS|ksfxd lao`f̀) 
nj dks c<+kus esa dgka rd l{ke gSa \ ¼mŸkj 250 'kCnksa esa nsa½ 
“Industrial growth rate has lagged-behind in the overall growth of Gross-
Domestic-Product (GDP) in the post-reform period.” Give reasons. How far 
the recent changes in Industrial-Policy are capable of increasing the 
industrial growth rate ? (Answer in 250 words)          7+8= 15 

 
13. ^lekos’kh lao`̀f)^ ds izeq[k vfHky{k.k D;k gSa \ D;k Hkkjr bl izdkj ds lao`̀f) izØe dk vuqHko 

djrk jgk gS \ fo’ys"k.k dhft, ,oa lekos’kh lao`̀f) gsrq mik; lq>kb;sA ¼mŸkj 250 'kCnksa esa nsa½ 
What are the salient features of ‘inclusive growth’ ? Has India been 
experiencing such a growth process ? Analyse and suggest measures for 
inclusive growth. (Answer in 250 words)           15 

 
14. lL;u ra= esa /kku vkSj xsgw¡ dh fxjrh gqbZ mit ds fy, D;k&D;k eq[; dkj.k gSa \ ra= esa 

Qlyksa dh mit ds fLFkjhdj.k esa lL; fofo/khdj.k fdl izdkj ennxkj gksrk gS \  
¼mŸkj 250 'kCnksa esa nsa½ 

What are the major reasons for deelining rice and wheat yield in the 
cropping system ? How crop diversification is helpful to stabilize the yield 
of the crops in the system ? (Answer in 250 words)          15 

 
15. lgkf;fd;ka lL;u izfr:Ik] lL; fofo/krk vkSj d̀"̀kdksa dh vkfFkZd fLFkfr dks fdl izdkj 

izHkkfor djrh gSa \ y?kq vkSj lhekar d`"̀kdksa ds fy, Qly chek] U;wure leFkZu ewY; vkSj [kk| 
izlaLdj.k dk D;k egŸo gS \ ¼mŸkj 250 'kCnksa esa nsa½ 
How do subsidies affect the cropping pattern, crop diversity and economy of 

farmers ? What is the significance of crop insurance, minimum 



www.afeias.com 
UPSC MAINS GS-3 2017 Paper 

4 

 
support price and food processing for small and marginal farmers ? 
(Answer in 250 words) 

 
16. Hkkjr esa ukfHkdh; foKku vkSj izkS|ksfxdh dh lao`f̀) vkSj fodkl dk fooj.k izLrqr dhft,A 

Hkkjr esa rhoz iztud fj;sDVj dk;ZØe dk D;k ykHk gS \ ¼mŸkj 250 'kCnksa esa nsa½ 
Give an account of the growth and development of nuclear science and 
technology in India. What is the advantage of fast breeder reactor  
programme in India ? (Answer in 250 words)           15 

 
17. ^tyok;q ifjorZu^ ,d oSf’od leL;k gSA Hkkjr tyok;q ifjorZu ls fdl izdkj izHkkfor gksxk\ 

tyok;q ifjorZu ds }kjk Hkkjr ds fgeky;h vkSj leqnzrVh; jkT; fdl izdkj izHkkfor gksaxs \ 
¼mŸkj 250 'kCnksa esa nsa½ 

‘Climate change’ is a global problem. How India will be affected by climate 
change? How Himalayan and coastal states of India will be affected by 
climate change ?               (Answer in 250 words) 15 

 
18. fnlEcj 2004 dks lqukeh Hkkjr lfgr pkSng ns’kksa esa rckgh yk;h FkhA lqukeh ds gksus ds fy, 

ftEesnkj dkjdksa ij ,oa thou rFkk vFkZO;oLFkk ij iM+us okys mlds izHkkoksa ij ppkZ dhft,A 
,u-Mh-,e-,- ds fn’kk funsZ’kksa ¼2010½ ds izdk’k esa] bl izdkj dh ?kVukvksa ds nkSjku tksf[ke dks 
de djus dh rS;kfj;ksa dh fØ;kfof/k dk o.kZu dhft,A ¼mŸkj 250 'kCnksa esa nsa½ 
On December 2004, tsunami brought havoc on fourteen countries including 
India. Discuss the factors responsible for occurrence of tsunami and its 
effects on life and economy. In the light of guidelines of NDMA (2010) 
describe the mechanisms for preparedness to reduce the risk during such 
events.  (Answer in 250 words)                    15 

 
19. Hkkjr esa HkhM+ fgalk ,d xEHkhj dkuwu vkSj O;oLFkk leL;k ds :Ik esa mHkj jgh gSA mi;qä 

mnkgj.k nsrs gq;s] bl izdkj dh fgalk ds dkj.kksa ,oe~~ ifj.kkeksa dk fo’ys"k.k dhft,A 
¼mŸkj 250 'kCnksa esa nsa½ 

Mob violence is emerging as a serious law and order problem in India. By 
giving suitable examples, analyze the causes and consequences of such 
violence.                (Answer in 250 words) 15 

 
20. vkradokn dh egkfoifŸk jk"Vªh; lqj{kk ds fy;s ,d xEHkhj pqukSrh gSA bl c<+rs gq, ladV dk 

fu;a=.k djus ds fy;s vki D;k&D;k gy lq>krs gSa \ vkradh fu/kh;u ds izeq[k lzksr D;k gSa \ 
¼mŸkj 250 'kCnksa esa nsa½ 

The scourge of terrorism is a grave challenge to national security. What 
solution do you suggest to curb this growing menace ? What are the major 
sources of terrorist funding ?             (Answer in 250 words) 15 

  


